MATHS

BOOKS - MBD

Polynomials

1. Classify the following as linear, quadratic and cubic polynomial :

:c2—|—:1:.

o Watch Video Solution

2. Classify the following as linear, quadratic and cubic polynomial :

$—2133.

| o Wiatkll . \nNdaa CaAliidiam



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gxEUBHahpmbT
https://dl.doubtnut.com/l/_NJADazDMRqxh
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3. Classify the following as linear, quadratic and cubic polynomial :

y—i—y2—|—4.

° Watch Video Solution

4. Classify the following as linear, quadratic and cubic polynomial :

1+ x.

o Watch Video Solution

5. Classify the following as linear, quadratic and cubic polynomial : 3t.

o Watch Video Solution

6. Classify the following as linear, quadratic and cubic polynomial : 2.



https://dl.doubtnut.com/l/_NJADazDMRqxh
https://dl.doubtnut.com/l/_eeG4yi0Jqd2R
https://dl.doubtnut.com/l/_gcWPERS0Gl5z
https://dl.doubtnut.com/l/_bplMIYPn5fsP
https://dl.doubtnut.com/l/_DFbMGXz1Bq5R

| o Watch Video Solution

7. Classify the following as linear, quadratic and cubic polynomial : 72>

o Watch Video Solution

8. The following expression is polynomial or not ? State reasons for

your answer. z2 + 1 + 2.

o Watch Video Solution

9. The following expression is polynomial or not ? State reasons for

your answer. z° + 2z + = 4 /7.

o Watch Video Solution



https://dl.doubtnut.com/l/_DFbMGXz1Bq5R
https://dl.doubtnut.com/l/_QOKYFXqpg3TO
https://dl.doubtnut.com/l/_bRjW6Klq0hC3
https://dl.doubtnut.com/l/_UodY9FOfvZjC

10. The following expression is polynomial or not ? State reasons for

your answer. z* + 2% + 22 + VT + 1

o Watch Video Solution

11. The following expression is polynomial or not ? State reasons for

1
your answer. y + 5

o Watch Video Solution

12. The following expression is polynomial or not ? State reasons for

your answer. {/z + z°.

o Watch Video Solution

13. Write the following polynomial in the standard form, also write the

degree. 12z* + 5z — 32® + 7 — 1122


https://dl.doubtnut.com/l/_3AzAFkZPAkxk
https://dl.doubtnut.com/l/_xSCEUFbdAlZx
https://dl.doubtnut.com/l/_lmafWyIAIYcs
https://dl.doubtnut.com/l/_SfazIxlh4VGN

o Watch Video Solution

14. Write the following polynomial in the standard form, also write the

degree. 62> — Tz + 2z + 13z°.

o Watch Video Solution

15. Write the following polynomial in the standard form, also write the

degree. 10z + 9 + 62> — z.

o Watch Video Solution

16. Write the following polynomial in the standard form, also write the

degree. 3z + 162° + 15z* — 2% — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_SfazIxlh4VGN
https://dl.doubtnut.com/l/_btIFfNx2JnWz
https://dl.doubtnut.com/l/_dmybnt73ySS2
https://dl.doubtnut.com/l/_HaZIfTaNYF4U
https://dl.doubtnut.com/l/_lsJYeZnQla3P

17. Write the following polynomial in the standard form, also write the

degree. 10 + z% — 3z.

o Watch Video Solution

18. Write the following polynomial in the standard form, also write the

degree. 2 + x.

° Watch Video Solution

19. Write the following polynomial in the standard form, also write the

degree. 5.

° Watch Video Solution

20. Write the following polynomial in the standard form, also write the

degree. —z* + 3 + 2.

[ |


https://dl.doubtnut.com/l/_lsJYeZnQla3P
https://dl.doubtnut.com/l/_dHUwa4hx2r1e
https://dl.doubtnut.com/l/_4w2OiGK51IIg
https://dl.doubtnut.com/l/_nCA9KZwn7o6P

| @ Watch Video Solution

21. Write the following polynomial in the standard form, also write the

degree. —y® + 2% — y® + 2.

o Watch Video Solution

22. Classify the following as monomial, binomial and trinomial : 3x.

o Watch Video Solution

23. Classify the following as monomial, binomial and trinomial :

22 — 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_nCA9KZwn7o6P
https://dl.doubtnut.com/l/_nnNAo3vly88F
https://dl.doubtnut.com/l/_RntAWUKy8nRp
https://dl.doubtnut.com/l/_GflI7ATpUxFd

24. Classify the following as monomial, binomial and trinomial :

23 — 2% + 4z.

o Watch Video Solution

25. Classify the following as monomial, binomial and trinomial : — 5.

° Watch Video Solution

26. Classify the following as monomial, binomial and trinomial : y® + 1.

o Watch Video Solution

27. Classify the following as monomial, binomial and trinomial :

\/§—|—a:—a:2.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZfXnMe3xX4WZ
https://dl.doubtnut.com/l/_alygoQg3FYHJ
https://dl.doubtnut.com/l/_sMl0TNrhH5rJ
https://dl.doubtnut.com/l/_bZoD1MjdNrbx

28. Classify the following as monomial, binomial and trinomial :

y4+y+5.

o Watch Video Solution

29. Classify the following polynomial as linear, quadratic and cubic :

3z% + Tz + 5.

o Watch Video Solution

30. Classify the following polynomial as linear, quadratic and cubic :

T — b.

o Watch Video Solution



https://dl.doubtnut.com/l/_bZoD1MjdNrbx
https://dl.doubtnut.com/l/_CXJw0M1m4E1e
https://dl.doubtnut.com/l/_jiDNGcMsNLwS
https://dl.doubtnut.com/l/_AVpJBKh0FvH4

31. Classify the following polynomial as linear, quadratic and cubic :

2+ 922+ + 7.

o Watch Video Solution

32. Classify the following polynomial as linear, quadratic and cubic :

2 — 9.

o Watch Video Solution

33. Classify the following polynomial as linear, quadratic and cubic :

2 + 3z — 5.

o Watch Video Solution

34. Classify the following polynomial as linear, quadratic and cubic: x.

| ﬂll',L,l,l'!,l,, o~ _01_ _a°* ___


https://dl.doubtnut.com/l/_xAXjk3IPQxfH
https://dl.doubtnut.com/l/_kcUmE33ViF0K
https://dl.doubtnut.com/l/_rjXKCrNaiOqy
https://dl.doubtnut.com/l/_OyJny6or6ijo
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35. Find the value of the polynomial 5z — 4z* 4+ 3 at z = 0.

o Watch Video Solution

36. Find the value of the polynomial 5z — 4z® + 3atz = — 1.

o Watch Video Solution

37.Find the value of the polynomial 5z — 42> + 3atz = 2.

o Watch Video Solution

38. Find p(0),p(1) and p(2) for the following polynomial

p(y) =y —y+ 1L

o Watch Video Solution



https://dl.doubtnut.com/l/_OyJny6or6ijo
https://dl.doubtnut.com/l/_9HGeH8VWf7Bf
https://dl.doubtnut.com/l/_J6XUCshPrjU3
https://dl.doubtnut.com/l/_IwvZ5qOXc9HM
https://dl.doubtnut.com/l/_WjmurE6cvb47

39. Find p(0),p(1) and p(2) for the following polynomial

p(t) =2+t + 22 — %

o Watch Video Solution

40. Find p(0), p(1) and p(2) for the following polynomial : p(z) = z°.

o Watch Video Solution

41. Find p(0),p(1) and p(2) for the following polynomial

p(z) = (z = 1)(z + 1).

o Watch Video Solution

42. Verify whether the following is zero of the polynomial, indicated

o 1
againstit:p(z) =3z + 1,z = — 3


https://dl.doubtnut.com/l/_WjmurE6cvb47
https://dl.doubtnut.com/l/_MSxwxP5uIyuo
https://dl.doubtnut.com/l/_BDbWv9DtDPMW
https://dl.doubtnut.com/l/_Il1frSlW5oVE
https://dl.doubtnut.com/l/_4GRJRkWlNspE

o Watch Video Solution

43. Verify whether the following is zero of the polynomial, indicated

4
againstit: p(z) = bz — m,z = 5

o Watch Video Solution

44. Verify whether the following is zero of the polynomial, indicated

againstit:p(z) = 2> -1,z =1, — L

o Watch Video Solution

45. Verify whether the following is zero of the polynomial, indicated

againstit:p(z) = (z + 1)(z — 2),z = — 1, 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_4GRJRkWlNspE
https://dl.doubtnut.com/l/_CQ9AOakfsaXp
https://dl.doubtnut.com/l/_RSamvxtQnTS0
https://dl.doubtnut.com/l/_FVTvQOHnm7qy
https://dl.doubtnut.com/l/_PpDrXHjSsBKE

46. Verify whether the following is zero of the polynomial, indicated

against it: p(z) = 2%,z = 0.

o Watch Video Solution

47. Verify whether the following is zero of the polynomial, indicated

L m
againstit:p(z) =lx + m,z = — -

° Watch Video Solution

48. Verify whether the following is zero of the polynomial, indicated

1
againstit:p(z) = 32> — 1,z = — ek

Sl

° Watch Video Solution

49. Verify whether the following is zero of the polynomial, indicated

o 1
againstit:p(z) =2z + 1,z = 3



https://dl.doubtnut.com/l/_PpDrXHjSsBKE
https://dl.doubtnut.com/l/_UtG8Mgh0MM9L
https://dl.doubtnut.com/l/_QLvsREzWhuwv
https://dl.doubtnut.com/l/_2n6wbRrp1Cy7

| o Watch Video Solution

50. Find the zero of the polynomial in the following : p(z) = = + 5 is

real number.

o Watch Video Solution

51. Find the zero of the polynomial in the following : p(z) =z — 5 is

real number.

o Watch Video Solution

52. Find the zero of the polynomial in the following : p(z) = 2z + 5 is

real number.

° Watch Video Solution



https://dl.doubtnut.com/l/_2n6wbRrp1Cy7
https://dl.doubtnut.com/l/_BM5e4EIQbO6K
https://dl.doubtnut.com/l/_R53AoW2Zru2l
https://dl.doubtnut.com/l/_VnLNtPXwh222

53.Find the zero of the polynomial in the following : p(z) = 3z — 2iis

real number.

o Watch Video Solution

54.Find the zero of the polynomial in the following : p(z) = 3z is real

number.

o Watch Video Solution

55. Find the zero of the polynomial in the following
p(z) = azx, a # 0is real number.

o Watch Video Solution

56. Find the zero of the polynomial in the following

p(x) = cx +d, c # 0, ¢, d is real number.


https://dl.doubtnut.com/l/_EEX1Sk7yOLt6
https://dl.doubtnut.com/l/_1Iq4qxZQ8sME
https://dl.doubtnut.com/l/_BpL84rbKB33n
https://dl.doubtnut.com/l/_D4Y854zJtwW9

o Watch Video Solution

57.Find the value of the following polynomial at the indicated value of

variable: p(z) = 5z® — 3z + Tatz = 1.

o Watch Video Solution

58.Find the value of the following polynomial at the indicated value of

variable : p(z) = 3y® — 4y + 4aty = 2.

o Watch Video Solution

59. Find the value of the following polynomial at the indicated value of

variable: p(t) = 4t* 4+ 5t> —t* + 6att = — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_D4Y854zJtwW9
https://dl.doubtnut.com/l/_i0bEuOYDDLDp
https://dl.doubtnut.com/l/_hwGrr86zfIdH
https://dl.doubtnut.com/l/_sjM9FLLACvy2
https://dl.doubtnut.com/l/_MBaNiIGTCOmR

60. Find p( — 1), p(2) and p( — 3) for the following polynomial :

p(x) =5 — .

o Watch Video Solution

61. Find p( — 1), p(2) and p( — 3) for the following polynomial :

p(y) =y —y* +7

o Watch Video Solution

62. Find p( — 1), p(2) and p( — 3) for the following polynomial :

p(t) = (t —5)(t +8).

° Watch Video Solution

63. Find p( — 1), p(2) and p( — 3) for the following polynomial :

p(z) = 32 — Tz + 12.



https://dl.doubtnut.com/l/_MBaNiIGTCOmR
https://dl.doubtnut.com/l/_G12ITj2yN2IO
https://dl.doubtnut.com/l/_MnF3ZHxbWJDx
https://dl.doubtnut.com/l/_nlS9zUhwegc3

| @ Watch Video Solution

64. Verify whether the indicated number is zero of the polynomial

corresponding toit: p(xz) = Tz — 1,z = -

o Watch Video Solution

65. Verify whether the indicated number is zero of the polynomial

8
corresponding toit: p(x) =3z + 8,z = — 3

o Watch Video Solution

66. Verify whether the indicated number is zero of the polynomial

corresponding to it : p(z) = z? — 9,z = 3, — 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_nlS9zUhwegc3
https://dl.doubtnut.com/l/_3eMwy65rdAoU
https://dl.doubtnut.com/l/_MzaaqrFcRb2G
https://dl.doubtnut.com/l/_2rwsEmew6TN2

67. Verify whether the indicated number is zero of the polynomial

b
corresponding to it: p(z) = ax — b,z = —.
a

o Watch Video Solution

68. Find the zero of the polynomial in the following : p(z) = 2z — 7,is

real number.

o Watch Video Solution

69. Find the zero of the polynomial in the following : p(z) = 5z, is real

number.

o Watch Video Solution

70. Find the zero of the polynomial in the following : p(y) = y + 8, is

real number.


https://dl.doubtnut.com/l/_mQG8GGyqo0Kf
https://dl.doubtnut.com/l/_h4NRl56sgLDE
https://dl.doubtnut.com/l/_DRz9dUMESkNY
https://dl.doubtnut.com/l/_lnrVuKhlZfiW

° Watch Video Solution

71. Find the zero of the polynomial in the following : p(z) = 9z + 4, is

real number.

o Watch Video Solution

72. Find the zero of the polynomial in the following

p(y) = my +n, m # 0, m and n,is real number.

o Watch Video Solution

73.0n dividing 2® + 322 + 3z + 1 by x we get remainder :

o Watch Video Solution



https://dl.doubtnut.com/l/_lnrVuKhlZfiW
https://dl.doubtnut.com/l/_Ny08bAglBdT8
https://dl.doubtnut.com/l/_L16Tf4VyW1v2
https://dl.doubtnut.com/l/_3IvEeuB7bksj

1
74.0n dividing 3 + 3z? + 3z + 1byz — 5 e get remainder:

° Watch Video Solution

75.0n dividing 2° + 322 + 3z + 1 by x we get remainder :

° Watch Video Solution

76.Find the remainder when x> + 3z + 3z + 1is divided by : 2 + .

o Watch Video Solution

77.Find the remainder when > + 3z® + 3z + 1is divided by : 5 + 2z.

° Watch Video Solution



https://dl.doubtnut.com/l/_WyB7auyMA85m
https://dl.doubtnut.com/l/_zSyb84dBtwaC
https://dl.doubtnut.com/l/_GLv2yhITK4Pb
https://dl.doubtnut.com/l/_mw4AMShxDVun

78. Use the Factor Theorem to determine whether g(x) is a factor of
p(x) in each of the following cases:

p(z) =22° + 2> — 22 — 1, g(z) =z + 1

o Watch Video Solution

79. Use the factor theorem to determine whether g (x) is a factor of p

(x) in the following case: p(z) = z* + 32> + 3z + 1, g(z) = = + 2.

o Watch Video Solution

80. Use the factor theorem to determine whether g (x) is a factor of p

(x) in the following case: p(z) = z° — 42® + = + 6, g(z) = = — 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_nEQq7JtXbXVs
https://dl.doubtnut.com/l/_eoeeQs1DYe21
https://dl.doubtnut.com/l/_JO83UvW0ynHb

81. Find the value of k, if z — 1 is a factor of p(z) of the following case :

p(z) =z +z + k.

o Watch Video Solution

82.Find the value of k, if z — 1 is a factor of p(z) of the following case

:p(z) = 22% + kx + /2.

o Watch Video Solution

83. Find the value of k, if z — 1 is a factor of p(x) of the following case

:p(z) = kx® — 2z + 1.

o Watch Video Solution

84.Find the value of k, if  — 1 is a factor of p(z) of the following case

:p(z) = kx? — 3z + k.


https://dl.doubtnut.com/l/_PtrvaPnyYQiz
https://dl.doubtnut.com/l/_jXdCem5jgSEV
https://dl.doubtnut.com/l/_do3oMugWd4C4
https://dl.doubtnut.com/l/_3614cFPsiFUt

o Watch Video Solution

85. Factorise : 1222 — 7z + 1.

° Watch Video Solution

86. Factorise : 222 + Tx + 3.

o Watch Video Solution

87. The factors of 622 + 5z — 6 are :

o Watch Video Solution

88. Factorise: 32> — z — 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_3614cFPsiFUt
https://dl.doubtnut.com/l/_1vUVK4tb3e8p
https://dl.doubtnut.com/l/_6H47p3MHHwf1
https://dl.doubtnut.com/l/_RSkhJiZm1o8a
https://dl.doubtnut.com/l/_XVxvHThQxBf2

89. Factorise : z° — 222 — + 2.

o Watch Video Solution

90. Factorise : ° — 322 — 9z — b.

° Watch Video Solution

91. Factorise : z° + 1322 + 32z + 20.

o Watch Video Solution

92. Factorise : 2y + y? — 2y — 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_XVxvHThQxBf2
https://dl.doubtnut.com/l/_OLKTaKPSz9Ms
https://dl.doubtnut.com/l/_d9FLcMkv8alq
https://dl.doubtnut.com/l/_cpxlv4Pfo8Ea
https://dl.doubtnut.com/l/_sZ5b7qNTw8EJ
https://dl.doubtnut.com/l/_6fIrabFzeIJu

93. Use factor theorem to verify in the following that ¢(z) is a factor of

p(z) = 22° +52% — 3z — 4,q(z) =z — 1.

° Watch Video Solution

94. Use factor theorem to verify in the following that ¢(z) is a factor of

p(z) =x° + 3z +4,q(z) =z + 1

o Watch Video Solution

95. Use factor theorem to verify in the following that g(z) is a factor of

p(z) = 32% — 725 + Tx* — 32% + 222 — 2,¢(z) =z — 1.

o Watch Video Solution

96. Use factor theorem to verify in the following that g(z) is a factor of

p(z) = 22° — 922 + 2 + 12, ¢(x) = 2z — 3.



https://dl.doubtnut.com/l/_6fIrabFzeIJu
https://dl.doubtnut.com/l/_8hOGIBP9J3yg
https://dl.doubtnut.com/l/_Dx0o65SOPBqa
https://dl.doubtnut.com/l/_PQjrjuboASPb

[ & Watch Video Solution ]

97. Use factor theorem to verify in the following that g(z) is a factor of

p(z) = 32° + 2 — 20z + 12, ¢(z) = 3z — 2.

° Watch Video Solution

98. Find the value of k if (x-2) is a factor of 22> — 622 + 5z + k.

o Watch Video Solution

99. Find the value of k if (x+3) is a factor of 322 + kz + 6.

° Watch Video Solution

100. for what value of kis y> + ky + 2k — 2 exactly divisible by (y+1) ?

| o Watch Video Solution


https://dl.doubtnut.com/l/_PQjrjuboASPb
https://dl.doubtnut.com/l/_K28TDovE63vV
https://dl.doubtnut.com/l/_l3oz9VJxc8xZ
https://dl.doubtnut.com/l/_kLViHPDaPxbn
https://dl.doubtnut.com/l/_9j58IgV6OgVW

101. For what value of m is 2z + ma? + 11z + m + 3 exactly divisible

by (2x-1) ?

o Watch Video Solution

102. Find the value of a if 2y + 3 is a factor of 2y® + 9y — y — a.

° Watch Video Solution

103. Find the value of k if x -1is a factor of K’z — 4kx + 4k — 1.

o Watch Video Solution

104. For what value of a is the polynomial 2zt — az® + 42?422 + 1

is divisible by 1-2x?

| e |


https://dl.doubtnut.com/l/_9j58IgV6OgVW
https://dl.doubtnut.com/l/_JJPnyql4Dr3B
https://dl.doubtnut.com/l/_IhmuHNpijy5u
https://dl.doubtnut.com/l/_djjhbjpT6nj9
https://dl.doubtnut.com/l/_BpKWkf8GCivS

| & Watch Video Solution

105. Find the value of a if x + a is a factor of z° + az® — 22 + a + 4.

° Watch Video Solution

106. Find the value of a if x + a is a factor of z* — a’z? + 3z — a.

o Watch Video Solution

107. Using factor theorem, show that a - b is the factor of

a,(b2 — cz) + b(c2 — a2) + c(a2 — b2).

o Watch Video Solution

108. Factorise 2 +5x +6

| ° Watch Video Solution


https://dl.doubtnut.com/l/_BpKWkf8GCivS
https://dl.doubtnut.com/l/_H05Z2H8DVXVx
https://dl.doubtnut.com/l/_K4gx9fWqZcxq
https://dl.doubtnut.com/l/_6CpLDgY6R8PJ
https://dl.doubtnut.com/l/_PF4Nk7K5Fmh4

109. Using factor theorem, factorize the polynomial 2 — 7z + 12.

o Watch Video Solution

110. Using factor theorem, factorize the polynomial > — 5z — 6.

o Watch Video Solution

111. Find the remainder when z°! + 51 is divided by x + 1.

o Watch Video Solution

112. Factorise : z° — 1022 — 53z — 42.

o Watch Video Solution



https://dl.doubtnut.com/l/_PF4Nk7K5Fmh4
https://dl.doubtnut.com/l/_Ol9HJXPTQGcS
https://dl.doubtnut.com/l/_vYzKwdlylSEh
https://dl.doubtnut.com/l/_mp0rKLZBLZfM
https://dl.doubtnut.com/l/_us6wgBfJNruC
https://dl.doubtnut.com/l/_PChdTXLqdbDA

113. Factorise : z° + 1322 + 31z — 45.

° Watch Video Solution

114. Factorise : y° — 2y? — 29y — 42.

° Watch Video Solution

115. Use the suitable identity to find the following product :

(z + 4)(x + 10).

° Watch Video Solution

116. Use the suitable identity to find the following product :

(z + 8)(xz — 10).

o Watch Video Solution



https://dl.doubtnut.com/l/_PChdTXLqdbDA
https://dl.doubtnut.com/l/_OU4Zxe9ARNwG
https://dl.doubtnut.com/l/_gXAbFCU6e185
https://dl.doubtnut.com/l/_wR3c0lyeTXAP

117. Use the suitable identity to find the following product :

(3 + 4)(3z — 5).

o Watch Video Solution

118. Use the suitable identity to find the following product :

F-3)-3)

o Watch Video Solution

119. Use the suitable identity to find the following product :

(3 —2x)(3 + 2z).

o Watch Video Solution



https://dl.doubtnut.com/l/_fbOzFP6phsKc
https://dl.doubtnut.com/l/_tTWReirCvp1f
https://dl.doubtnut.com/l/_M5nbh6B4vOEp

120. Evaluate the following product without multiplying directly :

103 x 107.

o Watch Video Solution

121. Evaluate the following product without multiplying directly :

95 x 96.

o Watch Video Solution

122. Evaluate the following product without multiplying directly :

104 x 96.

o Watch Video Solution

123. Factorise the following using appropriate identities

9z + 6zy + y>.


https://dl.doubtnut.com/l/_oVf0to8U7SDY
https://dl.doubtnut.com/l/_Ic0gg6di4OV5
https://dl.doubtnut.com/l/_Mgvn9VeZCauA
https://dl.doubtnut.com/l/_mVVNT1RK7U3G

° Watch Video Solution

124. Factorise the following using appropriate identities : 4y* — 4y + 1

o Watch Video Solution

y2

100°

125. Factorise the following using appropriate identities : 2> —

o Watch Video Solution

126. Expand the following using suitable Identities : (z + 2y + 4z)2.

° Watch Video Solution

127. Expand the following using suitable Identities : (2z — y + z)2.

| e |


https://dl.doubtnut.com/l/_mVVNT1RK7U3G
https://dl.doubtnut.com/l/_KQS46JqBXYvl
https://dl.doubtnut.com/l/_bVV80a59dI7e
https://dl.doubtnut.com/l/_IIcEGzR3oYa7
https://dl.doubtnut.com/l/_e3Xkfaxs3NFA

| & Watch Video Solution

128. Expand the following using suitable Identities

(—2z+3y+ 2z)2.

o Watch Video Solution

129. Expand the following using suitable Identities : (3a — 7b — 0)2.

° Watch Video Solution

130. Expand the following using suitable Identities

(— 2z + 5y — 3z)2.

° Watch Video Solution

11 2
131. Expand the following using suitable Identities : {Za — Eb + 1} .


https://dl.doubtnut.com/l/_e3Xkfaxs3NFA
https://dl.doubtnut.com/l/_SWPVfKkgyLM3
https://dl.doubtnut.com/l/_a10Z2OXCaF5u
https://dl.doubtnut.com/l/_6JmWVcVF201E
https://dl.doubtnut.com/l/_FvRQlRrp0ni1

o Watch Video Solution

132. Factorise : 422 + 9y* + 1622 + 12zy — 24yz — 16z2.

o Watch Video Solution

133. Factorise : 222 + y? + 82% — 2¢/2zy + 44/2yz — 8z 2.

o Watch Video Solution

134. Write the following cube in expanded : (2z + 1)°.

o Watch Video Solution

135. Write the following cube in expanded : (2a — 3b)®.

° Watch Video Solution



https://dl.doubtnut.com/l/_FvRQlRrp0ni1
https://dl.doubtnut.com/l/_YBrUvULXWoLj
https://dl.doubtnut.com/l/_zqHqsmXUFOwE
https://dl.doubtnut.com/l/_P1STEOF905C8
https://dl.doubtnut.com/l/_USSCH4i8ByeQ

3
136. Write the following cube in expanded : l;m + 1} .

o Watch Video Solution
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137. Write the following cube in expanded : [x — —y} .

o Watch Video Solution

138. Evaluate the following using suitable identity : (99)°.

o Watch Video Solution

139. Evaluate the following using suitable identity : (102)°.

o Watch Video Solution



https://dl.doubtnut.com/l/_USSCH4i8ByeQ
https://dl.doubtnut.com/l/_Egh2kl1bnWnG
https://dl.doubtnut.com/l/_jzdns6sdwNeP
https://dl.doubtnut.com/l/_kdUrnf34wkBf
https://dl.doubtnut.com/l/_zfmPp0Xsu2ne
https://dl.doubtnut.com/l/_1Tpx7iV9Md7o

140. Evaluate the following using suitable identity : (998)°.

° Watch Video Solution

141. Factorise the following : 8a® + b* + 12a%b + 6ab’.

o Watch Video Solution

142. Factorise each of the following: 8a® — b* — 12ab + 6ab?

° Watch Video Solution

143. Factorise the following : 27 — 125a® — 135a + 225a°.

° Watch Video Solution

144. Factorise the following : 64a® — 27b% — 144a%b + 108ab®.


https://dl.doubtnut.com/l/_1Tpx7iV9Md7o
https://dl.doubtnut.com/l/_h5jeJY57LuRu
https://dl.doubtnut.com/l/_sx70hFfADvx5
https://dl.doubtnut.com/l/_27N0x8YZxlcl
https://dl.doubtnut.com/l/_p8hulqMCiLlu

o Watch Video Solution

. . 3 1 9, 1
145. Factorise the following : 27p° — 216 Ep + Zp.

° Watch Video Solution

146. Verify : z° + y° = (z + y) (5132 — Ty + yz).

o Watch Video Solution

147. Verify: 2° — y* = (z — y) (2% + 2y + 7).

o Watch Video Solution

148. Factorise the following : 27y% + 12523,

o Watch Video Solution



https://dl.doubtnut.com/l/_p8hulqMCiLlu
https://dl.doubtnut.com/l/_s83qy9tF51zK
https://dl.doubtnut.com/l/_WVcsKMhJNVPs
https://dl.doubtnut.com/l/_hrp2lrgLhXTD
https://dl.doubtnut.com/l/_6NLiTtLwCx6V

149. Factorise the following : 64m® — 343n°.

o Watch Video Solution

150. Factorise : 27z + y° + 2° — 9zyz.

o Watch Video Solution

151. g J9:-

1
o +yt 42— Boye = (@ +y+2)|(@ -9+ (y—2) + (- )]

o Watch Video Solution

2
1
152. Write the following in expanded form : (— ga + 2 — %) .
a

o Watch Video Solution



https://dl.doubtnut.com/l/_6NLiTtLwCx6V
https://dl.doubtnut.com/l/_Zj2cigpCqVRz
https://dl.doubtnut.com/l/_slBBKASCnFnw
https://dl.doubtnut.com/l/_L7ECLnuI8OE3
https://dl.doubtnut.com/l/_hZpXmhB27mfr

153. Write the following in expanded form: (z + y + 3z)°.

° Watch Video Solution

154. Write the following in expanded form : (2m + 3n — 4p)°.

° Watch Video Solution

155. Write the following in expanded form : ( — 2 -yt + z)2.

o Watch Video Solution

156. Simplify : (z — y + 22)° + (2 + y — 2)°.

° Watch Video Solution



https://dl.doubtnut.com/l/_5zeYhz80SIdS
https://dl.doubtnut.com/l/_UwWpD6nYJ72E
https://dl.doubtnut.com/l/_I0geUiTI4yXD
https://dl.doubtnut.com/l/_Ex6vJcorcYDS

157.Simplify: (—z —y — 2)> — (¢ + y — 2)°.

° Watch Video Solution

158. If a+b+c=12 and ab+ bc+ ca = 47, find the value of

a? + b + .

° Watch Video Solution

159. If a+b+c=29 and a® + b* + ¢ = 305, find the value of

ab + be + ca.

o Watch Video Solution

160. If x = 1, y = 3, z = 4, find the value of

z? + 9y? + 42% — 6zy + 12yx — 4zx.

| 6“',L,l,l'!,l,, o~ _01_ _a°* ___


https://dl.doubtnut.com/l/_vZFgsBk3H9F3
https://dl.doubtnut.com/l/_03y37whnObZx
https://dl.doubtnut.com/l/_No5Jfscqj6Ij
https://dl.doubtnut.com/l/_q0EIfZvusZPC

| " vvaldll viaco S01ution
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1
161. Write the following in expanded form : (§$ + 2y) .

° Watch Video Solution

162. Write the following in expanded form: (a:2 — y2)3.

° Watch Video Solution

1\3
163. Write the following in expanded form : (x — §> .

o Watch Video Solution

164. Simplify : (22 + 3)° + (z — y)°.

o Watch Video Solution



https://dl.doubtnut.com/l/_q0EIfZvusZPC
https://dl.doubtnut.com/l/_2FExD9iUoS81
https://dl.doubtnut.com/l/_q55FZtGJhy4L
https://dl.doubtnut.com/l/_pT6FaPMBCuQW
https://dl.doubtnut.com/l/_TL3SbJ7mcGHC

165. Simplify : (3 + 2y)° — (5 + y)°.

o Watch Video Solution

1\ (1 ’
166. Simplify : - = — | =z — .
implify <:c 3 y) ( 3 x y)

° Watch Video Solution

167. Simplify : (:1:2 — y)3 — (m2 + y)g.

o Watch Video Solution

1 1
168. Find the value of z° + — if <az + —) = 11.
T T

o Watch Video Solution



https://dl.doubtnut.com/l/_6cOMaWRJschm
https://dl.doubtnut.com/l/_GzXPW4mB3jo9
https://dl.doubtnut.com/l/_8m1pLEyZWpEy
https://dl.doubtnut.com/l/_IcH9yHUvDDH8

1 1
169.1f z — — = 5, find the value of z° — —.
x 23

° Watch Video Solution

3

170. Find the value of : 23 + % ifz + % =9and zy = 4.

o Watch Video Solution

171. Find the value of : 64a® + 125b%,ifda + 5b = — 22,ab = — 12.

o Watch Video Solution

172. Find the value of : 2723 — 4% if 3z — y = 8 and zy = 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_4lMg7Px6jqQJ
https://dl.doubtnut.com/l/_XiE2ceURJf8C
https://dl.doubtnut.com/l/_r5acS9AAN4w1
https://dl.doubtnut.com/l/_SfxWuEF9EJJ7

1 13 m

173.Find the value of : m® — —,ifm — — = —— and —
n3 n 2 n

o Watch Video Solution

174. Evaluate the following using the identity : (97)°.

° Watch Video Solution

175. Evaluate the following using the identity : (306)°.

o Watch Video Solution

176. Evaluate the following using the identity : (10.4)°.

° Watch Video Solution



https://dl.doubtnut.com/l/_ydmuutLYDGMl
https://dl.doubtnut.com/l/_og0apYBvDAqN
https://dl.doubtnut.com/l/_rwGswTk02vzX
https://dl.doubtnut.com/l/_o2PVuMXOvzIt

177. Evaluate the following using the identity : (996)°.

o Watch Video Solution

178. Evaluate the following using the identity : (99.5)°.

° Watch Video Solution

179. Factorise the following expression
92> + y* + 1622 + 6zy + Syz + 24zx.

° Watch Video Solution
180. Factorise the following expression

3z2 + 27y + 2° — 18zy + 6./3yz — 2,/3zz.

o Watch Video Solution



https://dl.doubtnut.com/l/_P6YGdrGeTbQ4
https://dl.doubtnut.com/l/_jrlfmLCE58aF
https://dl.doubtnut.com/l/_96FBNJS5fGjV
https://dl.doubtnut.com/l/_gPIjF1U7Smto

181. Factorise the following expression

22 +y? + 22 + 2zy — 2yz — 2zz.

o Watch Video Solution

182. Factorise the expression : 27z° + 8y® + 54z%y + 36zy>.

o Watch Video Solution

183. Factorise the expression : 12523 — y’ 2, + 5 9
| pression 152" = 916 ~ 2" ¥ T 2"V

° Watch Video Solution

184. Factorise the expression : 823 — 27y " + 23 — 18zyz.

o Watch Video Solution



https://dl.doubtnut.com/l/_gPIjF1U7Smto
https://dl.doubtnut.com/l/_ZCRLWHHwOyRS
https://dl.doubtnut.com/l/_vDH12fWxYxQR
https://dl.doubtnut.com/l/_PIcI9rDyFUa4
https://dl.doubtnut.com/l/_yZ1x3vQUuwTB

1
185. Factorise the expression : ﬁx?’ — 3 +1252% + 5ayz.

o Watch Video Solution

186. Factorise the expression : —27z3 + y® — 23 — 9zyz.

° Watch Video Solution

187. Factorise the expression : z3 — 8y3 — 6423 — 24xyz.

o Watch Video Solution

188. Which one of the following is not a polynomial ?

A32° — Bz +9

B.3,/z + 4z + 52°


https://dl.doubtnut.com/l/_EHGrnM6cR5a6
https://dl.doubtnut.com/l/_MUgLDwW7fdnX
https://dl.doubtnut.com/l/_GGBzHFJH3KBT
https://dl.doubtnut.com/l/_ybqtAq4uMenv

C. sgrt(ax)+x"2-x"3

D.y* + 6y — 5.

Answer:

° Watch Video Solution

189. Polynomial 2% — 4y + 3is :

A. Monomial
B. Binomial
C. Trinomial

D. None.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ybqtAq4uMenv
https://dl.doubtnut.com/l/_i76Mb7i8xjAH
https://dl.doubtnut.com/l/_ym76wdIExzxb

190. Polynomial t* — 4 is :

A. Binomial
B. Monomial
C. Trinomial

D. None.

Answer:

° Watch Video Solution

191. Polynomial 3 is :

A. Monomial

B. Binomial

C. Trinomial

D. None.


https://dl.doubtnut.com/l/_ym76wdIExzxb
https://dl.doubtnut.com/l/_514EMZ2F0RmD

Answer:

° Watch Video Solution

192.1n 2 + 22 + z the coefficient of 2 is :

A2

B.1

Answer:

o Watch Video Solution

193.1n 2 — 22 + z° the coefficient of 22 is :

Al


https://dl.doubtnut.com/l/_514EMZ2F0RmD
https://dl.doubtnut.com/l/_cA4R1D0VDUIh
https://dl.doubtnut.com/l/_JUraS9zSZXIa

Answer:

° Watch Video Solution

2

T . 2.
194. In > + x the coefficient of z“ is :

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JUraS9zSZXIa
https://dl.doubtnut.com/l/_nYpORVue4NPT

195.In /22 — 1 the coefficient of x is :

A /2

B.—1

D. — /2.

Answer:

o Watch Video Solution

196. In /b — 1 the coefficient of x is :

A.\/5
B.—1

C.0


https://dl.doubtnut.com/l/_nYpORVue4NPT
https://dl.doubtnut.com/l/_nF6clumdVu3D
https://dl.doubtnut.com/l/_2zOhPiREKQPS

D. —+/5.

Answer:

° Watch Video Solution

197. The degree of 5z% 4 4z 4 Tz is :

Al
B.2
C.3

D.4

Answer:

o Watch Video Solution

198. The degree of 4 — y? is :


https://dl.doubtnut.com/l/_2zOhPiREKQPS
https://dl.doubtnut.com/l/_aT3ooBUO8wVi
https://dl.doubtnut.com/l/_KYSFfDHycsI1

Al

B.2

C.o

D.3

Answer:

° Watch Video Solution

199. The degree of 5t — /T is :

Al



https://dl.doubtnut.com/l/_KYSFfDHycsI1
https://dl.doubtnut.com/l/_0F4PsndEFcCE

| & Watch Video Solution

200.The degree of 3 is :

A.O

B.3

C.1

Answer:

o Watch Video Solution

201. Which one of the following is a linear polynomial :

Al+zx

B.ar:2—|—:c


https://dl.doubtnut.com/l/_0F4PsndEFcCE
https://dl.doubtnut.com/l/_ouE2tFUXSv3w
https://dl.doubtnut.com/l/_ry67A3uJ3zvk

C.x—l—az2—|—4

D. 7z3.

Answer:

° Watch Video Solution

202. Which one of the following is quadratic polynomial :

A.a:—l—:c3+4
B. 5z2
3

Cr—=x

D. 3x.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ry67A3uJ3zvk
https://dl.doubtnut.com/l/_JQWfpJdSfdeX
https://dl.doubtnut.com/l/_d8jmIautVKHZ

203. The value of p(z) = 52 — 42 4+ 3forz = lis:

A5
B.1
C.4

D. 2

Answer:

o Watch Video Solution

204.The value of p(z) = 5z — 4a® + 3forz = Qs :

A3

B.2


https://dl.doubtnut.com/l/_d8jmIautVKHZ
https://dl.doubtnut.com/l/_vvQt7Tt9sGkh

Answer:

° Watch Video Solution

205.The value of p(z) = 5z — 4z + 3forz = — lis:

A.6

Answer:

o Watch Video Solution

206. The value of p(z) = 5z — 4a* 4 3forz = 2is :

A3


https://dl.doubtnut.com/l/_vvQt7Tt9sGkh
https://dl.doubtnut.com/l/_1AkzudKP2DG0
https://dl.doubtnut.com/l/_x15Ub8vUGusL

B.2

C.—2
D. —3.
Answer:

° Watch Video Solution

207.The value of p(t) = 2 + t + 2t

Al

B.2

D.3

Answer:

— 3 for p(0) is :

o Watch Video Solution



https://dl.doubtnut.com/l/_x15Ub8vUGusL
https://dl.doubtnut.com/l/_W6MJu3Zx7NzF

208. The value of p(z) = (x — 1)(z + 1) for p(1) is :

Al

B.2

C.O0

Answer:

o Watch Video Solution

209. The value of p(t) = 2 + t + 2t°

A4

C.6

— t3 for p(2) is :



https://dl.doubtnut.com/l/_W6MJu3Zx7NzF
https://dl.doubtnut.com/l/_qwDlILJz5rIi
https://dl.doubtnut.com/l/_0oWQ5INQ1p9V

D.7

Answer:

° Watch Video Solution

210. The value of p(y) = y* — y + 1 for p(0) is :

B.3

C.1

Answer:

o Watch Video Solution

211. The value of p(z) = 3 + z for p(2) is :


https://dl.doubtnut.com/l/_0oWQ5INQ1p9V
https://dl.doubtnut.com/l/_52omfFrcXW8m
https://dl.doubtnut.com/l/_L94nzQtBU7oA

A.O

B.5

D.3

Answer:

° Watch Video Solution

212. Which one of the following is the zero of p(z) = 3z + 1 on

dividing :


https://dl.doubtnut.com/l/_L94nzQtBU7oA
https://dl.doubtnut.com/l/_1dr8gX7WtVgd

Answer:

° Watch Video Solution

213. Which are the zeros of p(z) = z* — 1:

Al —1
B.—1,2
C.—2,2

D. -3, 3.

Answer:

o Watch Video Solution

214. Which are the zeros of p(z) = (z — 1)(z — 2) :

A—23


https://dl.doubtnut.com/l/_1dr8gX7WtVgd
https://dl.doubtnut.com/l/_4P5hDJJEcQAj
https://dl.doubtnut.com/l/_zGIgT9i7nNE6

B.2, —2

C.1,2

D.3, — 3.

Answer:

° Watch Video Solution

215. Which one of the following is the zero of p(z) = lz + m :

A
1l

1+l

l
D. —.
m

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zGIgT9i7nNE6
https://dl.doubtnut.com/l/_B0fJ8w7Aao5k

216. Which one of the following is the zero of p(X) = bz — 7 :

Answer:

o Watch Video Solution

217.The zero of p(x) = 2z — Tis:


https://dl.doubtnut.com/l/_B0fJ8w7Aao5k
https://dl.doubtnut.com/l/_iktCBmHy8Nr1
https://dl.doubtnut.com/l/_gx9NhDvJ0XOj

Answer:

o Watch Video Solution

218.The zero of p(z) = 9z + 4 is :

o ok

Ok x| ©

Answer:

o Watch Video Solution

219. On dividing * + 3z% + 3z + 1 by z + 1 we get remainder :


https://dl.doubtnut.com/l/_gx9NhDvJ0XOj
https://dl.doubtnut.com/l/_tfYMtkdCyZaM
https://dl.doubtnut.com/l/_4U0errev9Qan

Al

B.3z — 1

C.0

Answer:

° Watch Video Solution

1
220.0n dividing 2 4+ 322 + 3z + 1byz — 5 we get remainder :



https://dl.doubtnut.com/l/_4U0errev9Qan
https://dl.doubtnut.com/l/_OBgQKTYtX9KF

| & Watch Video Solution

221.0n dividing > + 32> + 3z + 1 by x we get remainder :

Al

B.O

D. 2

Answer:

o Watch Video Solution

222.0n dividing > + 3z + 3z + 1 by z + 7 we get remainder :

A.—7T—|—37r2—37r—|-1

B.7r—37r2—|-37r—|—1


https://dl.doubtnut.com/l/_OBgQKTYtX9KF
https://dl.doubtnut.com/l/_o0HpcvSloKz9
https://dl.doubtnut.com/l/_a0WFEl0DOC9p

C—-m—3nm2—-3r—-1

D.—7T—|—37'('2—371'—1.

Answer:

° Watch Video Solution

223.0n dividing 3 + 3z + 3z + 1 by 5 + 2z we get remainder :

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_a0WFEl0DOC9p
https://dl.doubtnut.com/l/_1yflxKHFtCal
https://dl.doubtnut.com/l/_7wlRyJ30mIiY

224.0n dividing z* — ax? + 62 — a by £ — a we get remainder :

A. 2a
B.3a
C.5a

D. 6a.

Answer:

° Watch Video Solution

225.1f x — 2is a factor of 22 — 3z + 5a then value of a is :

A1
B.—1
2
"5
2
D.— —


https://dl.doubtnut.com/l/_7wlRyJ30mIiY
https://dl.doubtnut.com/l/_OhLyRK92Aa4r

Answer:

° Watch Video Solution

226.1f x — 2is a factor of 22 — 2ax? + ax — 1then value ofais :

AL
6

Answer:

o Watch Video Solution

227.1f x — 2is a factor of 2% + 2ax? + ax — 1then value ofais :

A2
3


https://dl.doubtnut.com/l/_OhLyRK92Aa4r
https://dl.doubtnut.com/l/_e4kpxybpm1O3
https://dl.doubtnut.com/l/_VQjyhkl4oP0w

|~ | ot w

Answer:

° Watch Video Solution

228.1f x + ais a factor of > + ax® — 2z + a + 4 then value of a is :

o ol

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VQjyhkl4oP0w
https://dl.doubtnut.com/l/_zIuGdTpNJupo

229.If £ + a is a factor of z* + a?z% + 3z — 6a then value of a is :

Al

C.2

D.O

Answer:

o Watch Video Solution

230.If £ — a is a factor of 2% — az® + 2* — az® + 3z — a + 2 then

valueofais:

Al

B.2


https://dl.doubtnut.com/l/_zIuGdTpNJupo
https://dl.doubtnut.com/l/_J9oHL3BlV5AS
https://dl.doubtnut.com/l/_cr58NZs8djPr

Answer:

o Watch Video Solution

231.If x — a is a factor of x*5-a”2x"3+ 2x + a + 1" then value of a is :

Answer:

o Watch Video Solution

232. The factors of 2y® — 5y% — 19y + 42 are :


https://dl.doubtnut.com/l/_cr58NZs8djPr
https://dl.doubtnut.com/l/_6JfG3jKvybmf
https://dl.doubtnut.com/l/_h1rjCPYHqqTT

A(y—2)(y+3)(2y —y)
B.(y +2)(y +3)(2y +y)
C(y+2)(y—3)(2y+vy)

D.(y — 2)(y — 3)(2y — v).

Answer:

o Watch Video Solution

233. For which of the following polynomials is x + 1is a factor ?
Az +zl+z+1
B.z* + 23 + 22 +1
Cz*+323+322+z+1

D.z% — 2% — (2+\/§)m—|—\/§.

Answer:



https://dl.doubtnut.com/l/_h1rjCPYHqqTT
https://dl.doubtnut.com/l/_jJh3MANWaN7A

| & Watch Video Solution

234.1f x - 1is a factor of 2 + z + k then value of k is :

Al

Answer:

o Watch Video Solution

235.1f x - 1is a factor of 222 + kx + /2 then value of k is :

A2+ 42

B.— (2++/2)


https://dl.doubtnut.com/l/_jJh3MANWaN7A
https://dl.doubtnut.com/l/_BlshNB70QoyZ
https://dl.doubtnut.com/l/_GTET3MeLWSoL

C.1+4+/2
D. — (1++/2).

Answer:

° Watch Video Solution

236.If x - 1is afactor of kz? — v/2z + 1 then value of kis :

AV2+1
B.—1++/2
C.v/2-1
D.—y2 — 1.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GTET3MeLWSoL
https://dl.doubtnut.com/l/_3g7AuYj4wamY
https://dl.doubtnut.com/l/_sXH7zpXI7hPX

237.1f x - 1is a factor of p(z) = kz® — 3z + k then value of kis :

A3
2

Answer:

° Watch Video Solution

238. The factors of 1222 — 7z + 1 are:

A (42 — 1)(3z — 1)
B. (4 + 1)(3z — 1)
C.(4z — 1)(3z + 1)

D. (3 + 1)(4z — 1).


https://dl.doubtnut.com/l/_sXH7zpXI7hPX
https://dl.doubtnut.com/l/_NLn4Asw1IHZV

Answer:

° Watch Video Solution

239. The factors of 222 — 7z + 3 are:

A (z—3)(2z — 1)
B.(z + 3)(2z + 1)
C.(zx +3)(2z — 1)

D. (z — 3)(2z + 1).

Answer:

o Watch Video Solution

240. The factors of 622 + 5z — 6 are :

A (2z — 3)(3z — 2)


https://dl.doubtnut.com/l/_NLn4Asw1IHZV
https://dl.doubtnut.com/l/_DT6uE9Bu0bnh
https://dl.doubtnut.com/l/_X8lqMVuJIK9F

B. (2z + 3)(3z — 2)
C.(2z — 3)(3z + 2)

D. (2 — 3)(3z — 1).

Answer:

° Watch Video Solution

241. The factors of 322 — = — 4 are:

A (3z —4)(z + 1)
B.(3z +4)(x — 1)
C.(3z —4)(z — 1)

D. (3z + 2)(z + 1).

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X8lqMVuJIK9F
https://dl.doubtnut.com/l/_WkG7jveO74eY

242.The factors of 2 — 222 — xz + 2 are:

A(x+1)(z—1)(z—2)

B.(z + 1)(z — 1)(z +2)

C(z—1)(z —2)(z +2)

D.(z +2)(z — 1)(z + 1).

Answer:

o Watch Video Solution

243. The factors of z° — 322 — 9z — 5 are :

A (z+1)(z —1)(z +5)
B.(z + 1)(z + 1)(xz — 5)

C.(zx —1)(z — 1)(z —5)


https://dl.doubtnut.com/l/_WkG7jveO74eY
https://dl.doubtnut.com/l/_HsnkQxgRNADq
https://dl.doubtnut.com/l/_FCUw0YzaGK14

D.(z +1)(xz + 1)(z + 5).

Answer:

o Watch Video Solution

244. (z + 4)(x + 10) in expanded form is :

Az + 4z + 10
B.z2 + 10z + 40
C.xz2 + 14z + 40

D.z% — 14z + 40.

Answer:

o Watch Video Solution

245. (z + 8)(z — 10) in the expanded form is :


https://dl.doubtnut.com/l/_FCUw0YzaGK14
https://dl.doubtnut.com/l/_wYJ6nbkCWjBp
https://dl.doubtnut.com/l/_bwVfzlZohzon

Az — 8z — 80

B.z2 — 2z — 80

C.z2+ 2z + 80

D.z> — 2z + 80.
Answer:

° Watch Video Solution

246. (3x + 4)(3z — 5) in expanded form is :

A 922 — 3z — 20
B.9z2 — z — 20
C.92%2 — Tz — 20

D.9z% — 4z — 40.

Answer:



https://dl.doubtnut.com/l/_bwVfzlZohzon
https://dl.doubtnut.com/l/_c8fEhXuC5hFm

| & Watch Video Solution

247.(3 — 2z)(3 + 2x) in the expanded form is :

A9 — 2z
B.9 — 4x>
C.6 — 4z
D.3 — 4x2.
Answer:

o Watch Video Solution

248.The value of 104 x 96 is :

A. 9984

B. 9624


https://dl.doubtnut.com/l/_c8fEhXuC5hFm
https://dl.doubtnut.com/l/_9Dhfh8qmgUG6
https://dl.doubtnut.com/l/_JkONfUpV0oVG

C. 9980

D. 9986

Answer:

° Watch Video Solution

249. The value of 95 x 96 is :

A.9020

B. 9120

C. 9320

D. 9340

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JkONfUpV0oVG
https://dl.doubtnut.com/l/_AnhaOF0cXqU9
https://dl.doubtnut.com/l/_yrXlU5G1s9dB

250. The factors of 9z% + 6zy + v are :

A (3z — y)?
B. (3¢ + y)°
C.(2y —y)*

D. (2z + y)°.

Answer:

° Watch Video Solution

251. The factor form of 4> — 4y + 1is:

A (2y + 1)
B. (4y — 1)?
C.(2y — 1)

D. (2y — 2)°.


https://dl.doubtnut.com/l/_yrXlU5G1s9dB
https://dl.doubtnut.com/l/_72GXfEEA1Hr0

Answer:

° Watch Video Solution

2
Yy
252. The factor form of 2 :
€ factor rorm or 100 IS

Answer:

o Watch Video Solution

253.(2z — y + 2)° in the expanded form is :

Adz? + ¢ + 2% + doy — dyz + 222


https://dl.doubtnut.com/l/_72GXfEEA1Hr0
https://dl.doubtnut.com/l/_YFSkPFClELqK
https://dl.doubtnut.com/l/_wZmbpHOEwAn7

B.4z% + y? + 2% — dzy — 2yz + 42z
C.dz? — y? — 2% — dzy + dyz — 22z

D.4z? + y? — 2% + dzy — 2yz + 2zx.

Answer:

° Watch Video Solution

254. The factors of a* — b* are :

A (az + bz) (a2 + b2)
B. (a® + b*)(a + b)(a — b)
C. (a2 — bz) (a2 — b2)

D. None.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wZmbpHOEwAn7
https://dl.doubtnut.com/l/_4HTwwlGWyxKh

255. Which of the following completely divides 82> — 125y is :

A. 8z — 125y
B.2x — 5y
C.2z + 5y

D. 8z + 125y.

Answer:

o Watch Video Solution

256.1f x — — = m then the value of z° — — s :
T 3

B.3m

C.m? + 3m


https://dl.doubtnut.com/l/_4HTwwlGWyxKh
https://dl.doubtnut.com/l/_qnyrgVqWdu56
https://dl.doubtnut.com/l/_OZ2iVgWjBtuf

D.m> + 3m.

Answer:

° Watch Video Solution

1 1
257.1f p+ — = 2 then the value of p> — — is:
p p?

A4

B.2

D. None.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OZ2iVgWjBtuf
https://dl.doubtnut.com/l/_POu5PFpfLZrF

